Operations with Two Fractions (A)

Name: Date: Score:

Calculate each result.

11X4— 111;1— X
375 473
Solve
221_ = 121X%— _—
3 3 N 1373
31 1_ = 13i§— X
2 3 - 18 T 7
, 1_1 _ _ _ L B
2 4 N 1472
51 1— = 154'1— X
2 8 N 9 2
62+2— + = 16 3+1— +
5 5 N 8 2
75—1— — = 171+1— +
9 2 N 3 5
L322 W 31
53 N 772
= o 1212
8 16 - 572
10 1+1_ + = 20 5)(1—
33 N 62
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Operations with Two Fractions (A) Answers

Name: Date: Score:

Calculate each result.

11)(4— 4 111;1_1)(2_2
375 15 473 0 471 0 4
, 2.1 _ 2 1 _ 1 L L2 14
3 3 3 3 3 1373 7 39
L1 _ 3 2 1 B L.6_ 1L 77
2 37 6 6 6 18 "7 18 6 108
411_21_1 1413)(1_ 13
2 4 4 4 4 1472 28
511_41_3 154,1_4)(2_8
2 8 8 8 8 92 971 T 9
o 24222,2 4 3,1 3.4 7
55 5 5 5 8 2 8 8 8
9 2 18 18 18 35 15 15 15
o 2.2 _ 3,3 _ 2 s oxl = 3
5°3 572 10 772 T 14
3,286,815 1112z
"8 16 16 16 16 52 571 5
o f4i o Lyl 2 0 2xi = 2
33 3 3 3 62 12
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